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A. General :

1. This Question Paper contains 75 questions. Please check before
starting to attempt. The question paper consists of 3 parts (Quantitative
Aptitude, General Awareness & English).

2. Space is provided within question paper for rough work hence no
additional sheets will be provided.

3. Blank paper, clipboard, log tables, slide rules, calculators, cellular
phones, pagers and electronic gadgets in any form are not allowed
inside the examinaiton hall.

4. The answer sheet, a machine-gradable Objective Response Sheet
(ORS), is provided separately.

5. Do not Tamper / mutilate the ORS or this booklet.
6. Do not break the seals of the question-paper booklet before instructed

to do so by the invigilators.
7. SUBMIT the ORS to the invigilator after completing the test &

take away the test paper with you.
8. Any student found/reported using unfair means to improve his/

her performance in the test, shall be disqualified from STaRT-
2015.

B. How to fill Objective Response Sheet (ORS) for filling details
marking answers:

9. Use only HB Pencil/Blue or Black ball point pen for filling the ORS.
Do not use Gel/Ink/Felt pen as it might smudge the ORS.

10. Write your STaRT-2015 Student Registration No. in the boxes given
at the top left corner of your ORS with blue/black ball point pen. Also,
darken the corresponding bubbles with HB Pencil/Blue or Black ball
point pen only.

11. If  any student does not fill his/her STaRT-2015 Student Registration
No. correctly and properly, then his/her ORS will not be checked/
evaluated.

12. Since it is not possible to erase and correct pen filled bubble, you are
advised to be extremely careful while darken the bubble corresponding
to your answer.

13. Neither try to erase / rub / scratch the option nor make the Cross (X)
mark on the option once filled. Do not scribble, smudge, cut, tear, or
wrinkle the ORS. Do not put any stray marks or whitener anywhere
on the ORS.

14. If there is any discrepancy between the written data and the bubbled
data in your ORS, the bubbled data will be taken as final.

C. Question paper format and Marking scheme :
15. For each right answer you will be awarded 4 marks if you darken the

bubble corresponding to the correct answer and zero marks if no
bubble is darkened. In case of bubbling of incorrect answer, minus
one (�1) mark will be awarded.

v- lkekU; %

1- bl iz'u&i= esa 75 iz'u gSaA Ñi;k ijh{kk 'kq: djus ls igys tk¡p ysaA

bl iz'u&i=k esa 3 Hkkx bl izdkj gSa & (Quantitative Aptitude,

General Awareness & English).

2- jQ dk;Z djus ds fy, iz'u&i= esa gh LFkku fn;k x;k gS vr% vfrfjDr :i

ls dksbZ 'khV ;k isij ugha fn;k tk,xkA

3- [kkyh dkxt] r[rh] y?kqx.kd lkj.kh] LykbM :y] dsYdqysVj] lsy Qksu]

istj ,oa fdlh Hkh izdkj ds bysDVªkWfud xStsV ijh{kk gkWy esa ykuk oftZr gSA

4- mÙkj iqfLrdk] vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ tks fd e'khu }kjk

tk¡ph tk,xh] vyx ls iznku dh xbZ gSA

5- vks-vkj-,l- ;k iz'u&i= dks fdlh Hkh izdkj ls dkaVs&NkaVs ;k eksM+s ughaA

6- iz'u&i= dh lhy rc rd ugha [kksysa tc rd fd fujh{kd }kjk funsZ'k ugha

fn, tk,saA

7- ijh{kk lekIr gksus ds ckn vks-vkj-,l- 'khV fujh{kd dks lkSais rFkk iz'u&i=

vius lkFk ys tk,saA

8- ;fn dksbZ fo|kFkhZ ijh{kk esa vad c<+kus ds fy, vuqfpr lk/kuksa dk iz;ksx

djrk ik;k x;k ;k ,slk lwfpr fd;k x;k rks og STaRT-2015 ds fy,

v;ksX; gksxkA

c - vkWCtsfDVo jsLikWUl 'khV ¼vks-vkj-,l-½ esa fMVsYl rFkk mÙkj vafdr

djus ds fy, fuEu izdkj Hkjsa %

9- vks-vkj-,l- Hkjus ds fy, dsoy HB isafly@uhyk ;k dkyk ckWy isu gh

iz;ksx djsaA tsy@L;kgh@QsYV isu iz;ksx ugha djsaA

10- viuk STaRT-2015 fo|kFkhZ jftLVªs'ku Øekad vks-vkj-,l- 'khV ds ck;sa

dksus esa fn, x, LFkku esa uhys ;k dkys ckWy isu ls HkjsaA lkFk gh Øekad ds

vuqlkj uhps fn, x;s xksyksa dks Hkh HB isafly@uhys ;k dkys ckWy isu ls

xgjk djsaA

11- ;fn dksbZ fo|kFkhZ viuk STaRT-2015 fo|kFkhZ jftLVªs'ku Øekad lgh ,oa

Bhd <ax ls ugha Hkjrk gS rks mldh vks-vkj-,l- dks pSd@ewY;kafdr ugha

fd;k tk,xkA

12- vks-vkj-,l- esa fn, x, xksyksa dks ;fn ,d ckj ckWy isu ls xgjk fd;k tkrk

gS rks mls feVkuk laHko ugha] blfy, fo|kFkhZ iwjh lrdZrk ls gh xksyksa dks

xgjk djsaA

13- ,d ckj fdlh fodYi ds xksys dks xgjk djus ds ckn feVkus ;k [kqjpus dk

iz;Ru ugha djsaA vks-vkj-,l- 'khV ij fdlh izdkj ds /kCcs] xUnxh ;k

flyoV u yxus nsa vkSj u gh bls eksM+sa ;k dkVsaA

14- ;fn fdlh lanHkZ esa fyf[kr ,oa xksyksa esa vafdr tkudkjh esa varj ik;k x;k

rks xksyksa esa vafdr tkudkjh dks gh izekf.kd ekuk tk,xkA

l - iz'u&i= izk:i ,oa vad iznku fu;e %

15- izR;sd mÙkj ds fy, 4 vad fn, tk,xsa ;fn lgh xksys dks xgjk fd;k x;kA

;fn xyr xksys dks xgjk fd;k x;k rks ¼&1½ vad dkVk tk,xkA ;fn fdlh

xksys dks Hkh xgjk ugha fd;k x;k rks 'kwU; vad fn;k tk,xkA
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PART - I
QUANTITATIVE APTITUDE

Straight Objective Type

This section contains (1-30) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (1-30) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh
gSA

1. If x = a sec  + b tan and y = a tan  + b sec , then the value of x2 � y2 is -

;fn x = a sec  + b tan rFkk y = a tan  + b sec , gks] rks  x2 � y2 dk eku gS&
(A) a2b2 (B) a2 + b2 (C) a2 � b2 (D) 1

2. If A + B = 90º and A = 2B then the value of cos 2B is -

;fn A + B = 90º rFkk A = 2B gks] rks cos 2B dk eku gS &

(A) �
2
1

(B)
2
1

(C) 
2
3

(D) 1

3. The radius of a metallic cylinder is 2 cm and is of height 6 cm. If it is melted to form a cone whose radius is 3 cm,
the height of the cone is -
,d /kkrq ds csyu dh f=kT;k 2 lseh rFkk Å ¡pkbZ 6 lseh gSA ;fn bls fi?kykdj ,d 'kadq cuk;k tkrk gS ftldh f=kT;k  3 lseh
gks] rks 'kadq dh Å ¡pkbZ gSaA
(A) 8 cm (B) 9 cm (C) 12 cm (D) 24 cm

4. What are the values of a and b for which the following system of linear equations has infinte solution 2x � 3y = 7 ;

(a + b) x � (a + b � 3) y = 4a + b

fuEu jsf[kd lehdj.k esa vuUr gy ds fy;s a ,oa b dk eku Kkr fdft;sA
2x � 3y = 7 ;     (a + b) x � (a + b � 3) y = 4a + b

(A) a = � 3, b = � 1 (B) a = � 1, b = � 3 (C) a = � 5, b = � 1 (D) a = � 1, b = � 5

5. Give two similar triangles one of which has twice the perimeter of the other, Find the ratio of their areas ?
nks lekUrj f=kHkqtksa esa izFke f=kHkqt dk ifjeki nwljs dk nksxquk gS rks muds {kS=kQy dk vuqikr gksxkA

(A) 2 (B) 4 (C) 2 (D) 2 2

6. The value of tan 15º tan 25º tan 45º tan 65º tan 75º is :
tan 15º tan 25º tan 45º tan 65º tan 75º  dk eku gS
(A) 0 (B) 1
(C)  � 1 (D) None of these (dksbZ Hkh ugha)
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7. In the following figure, O is the centre and AOB is a diameter of the circle.
The value of x is :
fuEu fp=k esa O oÙ̀k dk dsUnz gS] ftldk O;kl AOB gS rks x dk eku gksxk&

                                     x120º

O

C

C
A B

(A) 60º (B) 45º

(C) 40º (D) 80º

8. Two parallel chords of a circle of radius 5 cm, are 4 cm and 6 cm long. What is the perpendicular distance
between the chords, if it is mentioned that both the chords are on the same half of the circle ?
,d oÙ̀k ftldh f=kT;k 5 cm gS fd nks thok,¡ 4 cm o 6 cm yEch gSaA thokvksa ds chp yEcor~ nwjh gksxh ;fn ;g ekyqe gS fd
nksuksa thok,¡ oÙ̀k ds ,d gh vk/ks Hkkx esa gSaA

(A) 421  (B)  421  (C) 214  (D) None of these (buesa ls dksbZ ugha)

9. If one root of x2 � 4x + k = 0 is 6 then the value of k is :

;fn x2 � 4x + k = 0, dk ,d ewy  6 gS] rks k dk eku gS :
(A) � 12 (B) 2 (C)  � 2 (D) 12

10. The expression 2

222222222222

)byax(

)ybxb2xa(ay)ybya2xa(bx




 is equal to

O;atd 2

222222222222

)byax(

)ybxb2xa(ay)ybya2xa(bx




 cjkcj gS

(A) a(x + y) (B) bx + ay (C) ax + by (D) b(x + y)

11. A farmer divides his herd of x cows among his 4 son's such that first son gets one-half of the herd, the second son
gets one fourth, the third son gets one-fifth and the fourth son gets 7 cows, then the value of x is :

,d fdlku viuh x xk;ksa ds lewg dks vius pkj iq=kksa esa bl izdkj ck¡Vrk gS fd izFke iq=k dks lewg dk vk/kk Hkkx feys] f}rh;

iq=k dks ,d&pkSFkkbZ izkIr gks] rr̀h; iq=k dks ik¡pok Hkkx izkIr gks rFkk pkSFks iq=k dks 7 xk;sa feys] rks xk;ksa dh la[;k x gS :
(A) 100 (B) 140 (C) 160 (D) 180

12. In a given figure in trapazium ABCD if AB || CD then value of x is :
layXu vkÑfr esa leyEc ABCD esa ;fn AB || CD gks rks x dk eku gksxk &:

A B

D C

2 x�2

2x+5 5

O

(A) 
8

29
(B) 

29
8

(C) 20 (D) 
20
1
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13. A girl of height 120 cm is walking from the base of a lamp-post at a speed to 1.2 m/s. If the lamp is 3.6 m above
the ground, the length of her shadow after 4 seconds is 

,d yM+dh ftldh yEckbZ 120 cm gS og 1.2 m/s dh xfr ls ,d ysEiiksLV ftldh Å ¡pkbZ vk/kkj ls 3.6 m gS] ls py jgh gS]
4 lsd.M ds ckn mldh Nk;k dh yEckbZ gksxhA

(A) 1.6 m. (B) 2.2 m. (C) 2.4 m. (D) 2.6 m.

14. The graph of  y = P(x) is given in fig below, The number of zeroes of P(x) will be

xzkQ esa izR;sd ds fy, p(x) ds 'kwU;kadksa dh la[;k Kkr djksaA

(A) 2 (B) 3 (C) 4 (D) 5

15. If , are the zeros of the polynomial f (x) = ax2 + bx + c then the value of 



+ 



  :

;fn , O;atd f (x) = ax2 + bx + c ds 'kqU;kad gSa] rks 



+ 



 dk eku gksxk :

(A) 
b
a

(B) 
c
a

(C) b2 � 2ac (D) 
ac

ac2b2 

16. If (a-5)2 + (b-c)2 + (c-d)2 + (b+c+d-9)2 = 0, then the value of (a + b + c) (b + c + d) is :

;fn (a-5)2 + (b-c)2 + (c-d)2 + (b+c+d-9)2 = 0, gks]rks (a + b + c) (b + c + d) dk eku gS %
(A) 0 (B) 11 (C) 33 (D) 99
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17. If x + y + z = 1, then 1-3x2 -3y2-3z2 + 2x3 + 2y3 +2z3 is equal to :

;fn x + y + z = 1, gks] rks 1-3x2 -3y2-3z2 + 2x3 + 2y3 +2z3 cjkcj gS %
(A) 6xyz (B) 3xyz (C) 2xyz (D) xyz

18. In the figure AD = DB, BE = 
2
1

 EC and  CF = 
3
1

AF. If the area of  ABC = 120 cm2, the area (in cm2) of DEF

is :

vkÑfr esa AD = DB, BE = 
2
1

 EC vkSj CF = 
3
1

AF. . gSA ;fn  ABC dk {ks=kQy  120 lseh2 gks]rks,  DEF dk {ks=kQy gSA

D

A

B C
E

F

(A) 21 (B) 35 (C) 40 (D) 45

19. A circle is inscribed in an equilateral triangle of side 'a' cm. The area (in cm2) of a square inscribed in the circle is
:

Hkqtk a lseh okys fdlh leckgq f=kHkqt ds varxZr ,d oÙ̀k cuk gqvk gSA oÙ̀k ds vraxZr cus oxZ dk {ks=kQy ¼lseh2 esa½ gS %
(A) a2/6 (B) a2/3 (C) 3a2/4 (D) a2/12

20. The probability of getting a number greater than 2 by throwing a fair dice is :

,d U;k;;qDr ik¡ls dks Qsadus ij 2 ls vf/kd vkus dh izkf;drk gS :
(A) 2/3 (B) 1/3 (C) 1 (D) 3/5

21. If 1 is added to the denominator of a fraction, it becomes 








2

1
 and if 1 is added to the numerator, the fraction

becomes 1. The fraction is :

fdlh fHkUu ds gj esa  '1' tksM+us ls fHkUu 








2
1

 gks tkrk gS rFkk va'k esa 1 tksM+us ls fHkUu 1 gks tkrk gS] fHkUu gS :

(A) 
7
4

(B) 
9
5

(C) 
3
2

(D) 
11
10

22. Represent (x5 + x + 1) as a product of two factors
(x5 + x + 1) dks nks xq.ku[k.Mksa ds :i esa çnf'kZr djksA.
(A) (x2 + x + 1)(x3 � x2 + 1)
(B) (x2 � x + 1)(x3 + x2 +x +1)
(C) (x2 �1)(x3 � x2 + 1)
(D) (x3 + x + 1)(x2 � 1)
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23. In the given equilateral ABC; D, E and F are the mid points of sides BC, AB and BD         respectively. If the area
of the BEF is 25 sq. cm then area of ABC is-

fn, x, leckgq ABC esa D, E rFkk F Øe'k% BC, AB rFkk BD ds e/; fcUnq gSaA ;fn BEF dk {ks=kQy  25 oxZ lseh gS] rks ABC

dk {ks=kQy gS-

(A) 25 sq. cm (B) 50 sq. cm (C) 100 sq. cm (D) 200 sq. cm

24. The solution of the equation 71 + x + 1 = 50 is :

lehdj.k 71 + x + 1 = 50 dk gy gS

(A) 0 (B) 1 (C) 2 (D) None of these (buesa ls dksbZ ugha)

25. F(x) is a polynomial in x. When F(x) is divided by (x � 2), the remainder obtained is 3, when the same polynomial

is divided by (x � 3), the remainder obtained is 2. What is the remainder when F(x) is divided by (x � 3) (x � 2)

F(x) ,d cgqin gSA tc F(x) dks (x � 2) ls foHkkftr fd;k tkrk gS] rks 'ks"kQy 3 izkIr gksrk gS vkSj mlh cgqin dks (x � 3),

ls foHkkftr djus ij 'ks"kQy 2 izkIr gksrk gSA cgqin F(x) dks (x � 3) (x � 2) ls foHkkftr djus ij 'ks"kQy D;k gksxk \

(A) � x + 5 (B) � 
3
5

x + 7 (C) 0 (D) 5

26. If x + y + z = 0 then 
   

xyz
xzzyyx 

=...........

;fn x + y + z = 0 rks

(A) �2 (B) �1 (C) 0 (D) 1

27. A television set was sold for Rs. 5760 by giving successive disconants of 10% and 20 % respectively. What was
the marked price
(A) Rs. 8000/- (B) Rs. 6400/- (C) Rs. 3200/- (D) None of these

,d Vsyhfotu lsV 10% vkSj 20% dh nks Øekxr NwV nsus ds ckn 5760 :i;s esa cspk tkrk gS] mldh Nih gqbZ dher Fkk %

(A) 8000 :i;s (B) 6400 :i;s (C) 3200 :i;s (D) mijksä  esa ls dksbZ ugha

28. Which of the following is true?

fuEu esa ls dkSu lk lgh gS \

(A) 732 = (73)2 (B) 732  > (73)2 (C) 732 < (73)2 (D) None of these (buesa ls dksbZ ugha)
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29. The value of 4 3 22 equal to :

4 3 22 dk eku gS :

(A) 6
1

2
 (B) 2� 6 (C) 6

1

2 (D) 26

30. Study the given table. Which equation describes the correct relationship between the values of x and y in the given

table ?  (nh xbZ lkj.kh dk v/;;u djus ij dkSulk lehdj.k  x o y esa lgh lEcU/k dks crkrk gS ?)

(A) y = x + 3

54

33

12

11

yx

(B) y = x � 3

(C) y = 2x + 3

(D) y = 2x � 3

PART - II
GENERAL AWARENESS

Straight Objective Type

This section contains (31-55) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.

lh/ks oLrqfu"B izdkj

bl [k.M esa (31-55) cgq&fodYih iz'u gSaA izR;sd iz'u ds 4 fodYi (A), (B), (C) rFkk (D) gSa] ftuesa ls flQZ ,d lgh gSA

31. The ore of iron is �
(A) Haematite (B) Uranium (C) Bauxite (D) Lignite
yksgs dk v;Ld gS �
(A) gsesVkbV (B) ;qjsfu;e (C) ckWDlkbV (D) fyXukbV

32. When was �Indian wildlife Protection Act� implemented ?

(A) 1970 (B) 1972 (C) 1974 (D) 1976
oU; tho laj{k.k vf/kfu;e Hkkjr esa dc ykxw gqvk ?
(A) 1970 (B) 1972 (C) 1974 (D) 1976

33. The Country that is not permanent member of United Nation Organisation is ?
(A) Russia (B) Britain (C) China (D) India
fuEu esa ls dkSulk ns'k la;qDr jk"Vªla?k dk LFkk;h lnL; ugha gS ?
(A) :l (B) fczVsu (C) phu (D) Hkkjr



(SPACE  FOR  ROUGH  WORK)

RESONANCE STaRT2015 XII_(OPEN) - 8

34. �The long walk to freedom� is autobiography of ?

(A) Nelsen Mandela (B) Mahatma Gandhi (C) Barak Obama (D) Amitabh Bachchan
^̂n yksax okd Vw ÝhMe fdldh vkRedFkk gS ?
(A) usYlu e.Msyk (B) egkRek xk¡/kh (C) cjkd vksckek (D) vferkHk cPpu

35. Who can seek information from government under �right to information Act� ?

(A) Any Citizen
(B) Only Government officials
(C) Only elected members of Loksabha
(D) Only elected members of Vidhan Sabha
^̂lwpuk ds vf/kdkj vf/kfu;e ds vUrxZr dkSu ljdkj ls lwpuk ek¡x ldrk gS ?
(A) dksbZ Hkh ukxfjd
(B) dsoy ljdkjh vf/kdkjh
(C) dsoy yksdlHkk esa fuokZfpr lnL;
(D) dsoy fo/kku lHkk esa fuokZfpr lnL;

36. Without sheddng blood the Bolshvik group  took control over the Russian Capital, because
(A) Korensky fled from Russia
(B) Czar had abdicated the throne
(C) farmerworker republic was formed
(D) all government centres of petrograd were taken under control.
fcuk jä  cgk;s :l dh jkt/kkuh ij cksy'ksfod ny dk vf/kdkj gks x;k] D;ksafd
(A) dksjasLdh :l NksMdj Hkkx x;k
(B) tkj flagklu NksM+ pqdk Fkk
(C) fdlku&etnwj turaU=k cu pqdk Fkk
(D) isVªksxzkM ds leLr ljdkjh dsUnzksa ij dCtk

37. How many languages are there under article 8th in the Indian Constitution ?
Hkkjrh; lafo/kku dh vkBoha vuqlwph esa fdruh Hkk"kk,¡ gSa  ?
(A) 22 (B) 20 (C) 25 (D)  15

38. When was the �National Rural Employment Gurantee Act� Passed ?

jk"Vªh; xzkeh.k jkstxkj xkjaVh vf/kfu;e dc ikfjr gqvk ?
(A) 2001 (B) 2003 (C) 2005 (D) 2007

39. What is GDP ?
(A) Gross Daily Production (B) Gross Domestic Production
(C) Gross Domestic Power (D) Gross Development Production
th- Mh- ih- D;k gS ?
(A) ldy nSfud mRiknu (B) ldy ?kjsyw mRiknu
(C) ldy ?kjsyw 'kfDr (D) ldy fodkl mRiknu
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40. In which year did the Economic Liberalisation start in India ?
Hkkjr esa vkfFkZd mnkjhdj.k dh 'kq#vkr dkSuls o"kZ esa gqbZ ?
(A) 1991 (B) 1996 (C) 1999 (D) 2004

41. The 52nd Constitutional amendment pertains to

(A) Panchyati Raj (B) Defection from party

(C) Preamble (D) Age for voting

52 ok¡ laoS/kkfud la'kks/ku lEcfU/kr gS

(A) iapk;r jkt ls (B) ny cny ls

(C) izLrkouk ls (D) ernku dh vk;q ls

42. Which state has first executed the three-tier system of Panchyti Raj in Indian Union ?
(A) Rajasthan (B) Gujrat (C) Uttar pradesh (D) Maharashtra
Hkkjrh; la?k dk og izFke jkT; ftlus iapk;r jkT; dh f=kLrjh; iz.kkyh dks LFkkfir fd;k] gS ?
(A) jktLFkku (B) xqtjkr (C) mÙkj izns'k (D) egkjk"Vª

43. Parliament can frame laws even on the subject in the State list, if subject pertains to -

(A) National interest (B) Interests of the old people

(C) Interests of the women (D) interests of the minorities

laln jkT; lwph esa of.kZr fo"k; ij Hkh dkuwu cuk ldrh gS] ;fn og fo"k; lEcfU/kr gks

(A) jk"Vªh; fgr ls (B) o)̀ksa ds fgr ls

(C) efgykvksa ds fgr ls (D) vYila[;dksa ds fgr ls

44. The recognition of which of the following is considered essential for Rights by the courts?

(A) Society (B) Community (C) The Electorate (D) The state

vf/kdjksa ds fy, U;k;ky; }kjk fuEu esa ls fdldh Lohd f̀r vko';d le>h tkrh gS \

(A) lekt (B) leqnk; (C) fuokZpd (D) jkT;

45. The American writter who developed Nationalistic feeling most, was

(A) Thomas Paine (B) Jaffierson (C) Milton (D) Voltaire

vesfjdk dk og lkfgR;dkj ftlus lokZf/kd jk"Vªh; Hkkouk dk fodkl fd;k] Fkk

(A) VkWel isu (B) tsQjlu (C) feYVu (D) okYrs;j

46. The foremost contribution of Emperor Napoleon which still affects the French Society, was the-

(A) Napoleonic code (B) Napoleonic diplomacy
(C) Napoleon�s adminstration (D) continental syhstem
lezkV usiksfy;u dh og nsu tks ÝkUl ds lekt dks vkt Hkh izHkkfor dj jgh gS] og gS
(A) usiksfy;u dh fof/k lafgrk (B) usiksfy;u dh dwVuhfr
(C) usiksfy;u dk iz'kklu (D) egk}hih; O;oLFkk
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47. At the time of conclusion of the Second World War the country over whom the atomic bomb was dropped, for the

first time, was

(A) Japan (B) France (C) Italy (D) Portugal

f}rh; fo'o ;q) dh lekfIr ij ftl ns'k ij loZ izFke v.kqce dk iz;ksx gqvk &

(A) tkiku (B) ÝkUl (C) bVyh (D) iqrZxky

48. The African country which attained freedom for the first time was

(A) Ghana (B) Algeria (C) Sudan (D) South Africa

vÝhdh jk"Vªksa esa loZizFke LorU=k gksus okyk ns'k Fkk

(A) ?kkuk (B) vYthfj;k (C) lwMku (D) nf{k.k vÝhdk

49. The reason not responsible for the discovery of ocean routes is -

(A) propagation of religion by christians

(B) expansion of trade to earn more

(C) availability of scientific apparatus like magnetic needle

(D) desire to expand state boundaries

leqnzh ekxksZ dh [kkst ds fy, tks dkj.k lgh ugha gS] og gSa &

(A) blkb;ksa ds }kjk /keZ dk izpkj

(B) /ku dekus gsrq O;kikj esa of̀)

(C) dqrqcuqek tSls oSKkfud midj.kksa dh lqyHkrk

(D) jkT; foLrkj dh ykylk

50. In order to solve the problem of regional variation and imbalance in industrial development of Rajasthan, which of

the following will you consider the best ?

(A) Creating basic infrastructure on priority basis

(B) Probiding incentives by district industrial centres

(C) Providing motivation in terms of finances and govt. subsidies

(D) Motivating and provding awareness in the regional public representatives.

^̂jktLFkku esa vkS|ksfxd fodkl esa {ks=kh; vUrj ,oa vlUrqyu gŜ̂ dks nwj djus ds fy, fuEu esa ls fdl lq>ko dks vki

lokZf/kd mi;ä  ekurs gSa \

(A) izkFkfedrk ds vk/kkj ij ewyHkwr lajpuk fuekZ.k

(B) ftyk m|ksx dsUnzksa ds }kjk izksRlkgu nsuk

(C) foÙkh; ,oa jktdks"kh; izsj.kk,¡ nsuk

(D) {ks=kh; tu izfrfuf/k;ksa esa tkx:drk mRiUu djuk
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51. Hydroelectric is more useful than thermal power electric in holding ecology as -

(A) it is cheaply produced (B) it is easily transported

(C) it is pollution free (D) it has unlimited stores.

i;kZoj.k lUrqyu esa rkih; fo|qr dh vis{kk ty fo|qr vf/kd mi;ksxh gSa] D;ksafd &
(A) bldk mRiknu lLrk gS (B) bldk ifjogu ljy gS

(C) ;g iznw"k.k jfgr gS (D) bldk Hk.Mkj vlhfer gS

52. The cuase, not related to the female ratio less than the national average , is -

(A) low female literacy (B) social indifference for girl child

(C) inadequate health and maternity facilities (D) females are a weaker sex.

efgykvksa dk fyaxkuqikr jktLFkku esa jk"Vªh; vkSlr ls de gkssus dk dkj.k tks ugha gS] og gS &

(A) lk{kjrk izfr'kr de gksuk (B) yM+fd;ksa dh lekt esa mis{kk

(C) LokLF; ,oa izlo lqfo/kkvksa dk de gksuk (D) efgykvksa dh 'kkjhfjd {kerk de gksuk

53. The economy where price system plays an important role is
(A) mixed economy (B) socialistic economy
(C) capitalistic economy (D) planned economy

ftl vFkZO;oLFkk esa dher iz.kkyh dh egRoiw.kZ Hkwfedk gksrh gS] mldk uke gS
(A) fefJr vFkZO;oLFkk (B) lektoknh vFkZO;oLFkk
(C) iwathoknh vFkZO;oLFkk (D) fu;ksftr vFkZO;oLFkk

54. The Green Revolution in India has expanded the type of disparity, that is
(A) Social (B) Political (C) Economic (D) Demographic

Hkkjr esa gfjr ØkfUr us ftl izdkj dh vlekurk esa of̀) dh gS] og gS
(A) lkekftd (B) jktuSfrd (C) vkfFkZd (D) tukafddh

55. The Sikh Guru who ordered to wear five symbols was
(A) Guru Govind Singh (B) Guru Nanak
(C) Guru Teg Bahadur (D) Guru Angad Dev
ik¡p ddkj ¼fpUg~½ /kkj.k djus dk vkns'k ftl flD[k xq: us fn;k Fkk] os Fks
(A) xq: xksfoUn flag (B) xq: ukud (C) xq: rsx cgknqj (D) xq: vaxn nso

PART - III
ENGLISH

Straight Objective Type

This section contains (56-75) questions. Each question has 4 choices (A), (B), (C) and (D) for its answer, out of
which ONLY ONE is correct.
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Directions  (56 to 57) : Choose the word opposite in meaning to the capitalized word.

56. CHURLISH
(A) naughty (B) coarse (C) courteous (D) modest

57. DAINTY
(A) coarse (B) graceful (C) delectable (D) obedient

Directions  (58 to 60) :  Out of the given alternatives; choose the one which can be substituted for the given
words or sentences.

58. A poem of mourning.

(A) elegy (B) sonnet (C) lyric (D) epic

59. A game in which no one wins.

(A) abandoned (B) draw (C) postponed (D) obsolete

60. Too much official formality.

(A) delayed (B) officiousness (C) formality (D) red tapism

Directions  (61 to 65) :  Read each sentence to find out whether there is any grammatical error in it. The error, if

any, will be in one part of the sentence.  The letter of that part is the answer.

61. He was wearing shabby, (A)/ faded trouser (B)/which he explained, were called jeans (C)/ and cost a fortune.(D)

62. He has become (A)/ so weak that even (B)/ a two furlongs (C)/ walk makes him breathless (D).

63. Our Housing Society comprises of (A)/ eight blocks and (B)/ forty-eight flats on an (C)/ area of about thousand sq. meters. (D)

64. A nationwide survey has (A)/ brought up an (B)/ interesting finding regarding (C)/ infant mortality rate in India. (D)

65. When your father inquired (A)/ about your marks (B)/ you lied to him, (C)/ have you not? (D)

Directions  (66 to 67) :  Identify the correct sentence:-

66. (A) Bare 40% of the population voted. (B) Barer 40% of the population voted.
(C) Barely 40% of the population voted. (D) Barest 40% of the population voted.

67. (A) I do not think we have met before. (B) I do not think we have met from.
(C) I do not think we have met then. (D) I do not think we have met ago.

Directions  (68 to 70) : In the following questions choose the word which best expresses the meaning  of the
given word.

68. DILIGENT
(A) Progressive (B) Brilliant (C) Inventive (D) Hard-working

69. FEEBLE
(A) Weak (B) Vain (C) Arrogant (D) Sick
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70. PRESTIGE
(A) Influence (B) Quality (C) Name (D) Wealth

Directions (71 to 73) : For each of the following sentences four alternatives are given. You are required to choose

the correct meaning of the idioms given in italics in the sentences.

71. The sight of the accident made my flesh creep.
(A) worried me (B) frightened me (C) confused me (D) drew my attention.

72. He is a queer fish. I have failed to understand him.

(A) funny person (B) sensitive person (C) strange person (D) quarrelsome person

73. The involvement of teachers in the scheme of education proved to be a mare's nest.
(A) a false invention (B) a noble thing (C) a successful (D) a timely sleep

Directions  (74 & 75) : Pick out the pair of words which share the same relationship as that of the given
pair of words.

74. 'Height' is related to 'Length' in the same way as 'Weight' is related to

(A) Length (B) Height (C) Mass (D) Breadth

75. �Needle� is related to �Thread� in the same way as �Pen�  is related to _______.

(A) Ink (B) Cap (C) Paper (D) Word


